YSV300A|2|=, FHMEEIY, ZISH wWH

4= T;fo =)
@ T HE2 0|
@® F=27 B
o 2SN 579
YSV3 @ @ SD2-[ A2 |- [ L3 |
| | | |
® @ @ @ & & O
@ A2[= ® $SXEMHA @ ZY HAMY
et 1 YSV300 Al2l= P : ZAHEA! (None Lock Push) A2 : AC 220V (50/60Hz)
TIZ : YSV300V AlZ|= L : 234! (Lock) A1 2 AC 110V (50/60Hz)
A4 1 AC 24V (50/60Hz)
@ HeHy ® ZY 24 A30 : AC 230V (50/60H2)
11 29%| A2 NC(E7IH8) SG2 : 22mm J12HE (400mm) A20 : AC 120V (50/60Hz)
21 29X A2 N.O(E7|Za) SD2 : 22mm T JIZH|E (400mm) D20 : DC 120V
3 : 2/2 way N.C(E7|=Hg)) SC2-CN2 : 3Pin B + UHIZUIE|(SAM) D4 : DC 24V
SC2-CD2 : 3Pin Y + HmAUIE|(EF) D2 : DC 12V
O E=r ] SC2-CZ2 : 3Pin Y + YL AUE| H53|2(FY)
1:1/8 SC2-CNM2 : 3Pin 2 + Z&EUE] JZHE A%
2 NPT 1/8 SC2-CZM?2 : 3Pin TY + HEIAFUE| H53|2 2715 : 400mm
SP2 : Il 2G EEx mll T4 #Z3Y L1 : 2l=M 1,000mm
@ lo| R L2 : 2l=A 2,000mm
D: X5¥ L3 : 2|=A 3,000mm

248 YPC



aze a5y saxocze YSV300

HalA 3EE 293
MERA| 37| Y EEY A
A28tz 0~0.7 MPa 0~—99 kPa
2am|A(mm) 15
ZFo U AIRRFRE 5~ 60" (41~ 140°F)
SEAIZ Sbar (5kgf/cm?) 20ms 0|5t
ES (o P =] 8¢/ sec
=5 7 2L (T ZRAI1S0 VG324 ALR)
SERZ NON-LOCK PUSH, LOCK (&f|t)
AR 17 [FA HeEB7 1
2|=M FiEUAl J2nE , 3T HUlE]
H3ax X1 P42, IP65
TUMAO| BF F& &Y
@ 3/2 Way FUFZATQ AC 50/60Hz AC220V, AC110V, AC24V (AC230V, AC120V)
®1/8 TUFATAL DC DC120V, DC24V, DC12V
© QA 315 AH|F2 AC 55VA, 37VA /DC 2.0W
SIETUHS HZATIRO —10% ~ +10%
OFFA| Z|4A Zt2HQL AC:ZZATL} 20%0|2t DC: HATIUO| 10%0]2F
o HESA
HHEHErAL 24 FEHE sl S 22|m|Amm
YSV311-DP-00 294x| H2(N.C)
i =4 _ PT :1/8
Bl O At 2HE YSV321-DP-00 2 29Ix] A2(N.0) NPT : 1/3 1.5mm
YSV331-DP-00 2/2 way(N.C)
o WHTY FESA
SD2 |-
@ @
® 15mm ZYALL @ AK2xiQ

SG2 : 22mm 12HE (400mm)

SD2 : 22mm I 20| E (400mm)
SC2—CN2 : 3Pin T + UHIF{UIE{(SAH)
SC2—CD2 : 3Pin AY + I HUIE|(ED)
SC2-CZ2 : 3Pin ALY + WTHUIE HS3|2(ES)
SC2-CNM2 : 3Pin LOE' + 2474{4lE

SC2-CZMR2 : 3Pin ZY+ HEZEF{UIE HS3|2

A2 AC 220V (50/60Hz)
Al 2 AC 110V (50/60Hz)
Ad - AC 24V (50/60Hz)
A30 : AC 230V (50/60Hz)
A20 : AC 120V (50/60Hz)
D20 : DC 120V

D4 : DC 24V

D2 : DC 12V

www.ypc.co.kr 249

g
=
H
2
In
nE
[+
3
wW
o
o




N
—Ho
>
0z
My
=z
Q
2
@
T
o
T
wn
O
)%
o
o

)
do
A

> 221x]

=1 A
d2 &

0=
M
=
fo
=<
n
<
w
N
|
o
T
n
lw]
by
o
©)

YSV311-DP-SD2-00

R(3)

¥ 0|= WE(N.C)

EEE
HS 229 H o
@ Hic| U20lE CHoJ7HAE
@ ooIRE K|
® Ofof=0| 430FR
@ oiwg HE gs
® Y AU Assy
® BUE UZ0|E

YSV311-DP-SC2—-CN2—00

M5x0.8 M5x0.8
2 (R-Port) (R-Port)
m 2-@4.5 Hole 2-@4.5 Hole
T3
— e e
o o @g\ p=i of of @ @
| o o©| ol
g9 2 N RTI=/=SN 4 g\ Y ®
s f B
25 235 ‘ 25 235 ‘ 50.0
740
=
IS
2185 | 220
€|
[T
_ 400+10.0
TTTT TTITIT
== 00 T
| Manual Button
= Manual Button
d N i AN
| |
2 8 i o S 1/8 i
| j} " \ |
‘ o)
) t t o + T
ol H o -
& } PIHE g o > @ & 3 = o o @»A
£ & b= i S
= I - N
IR= > i IHE=4 i
1/8 —
(P-Port) 230 2-M3X05 135 1/8 230 2-M3x05 135
- (A—Port)
415 (A-Por) (P-Por) 415 fpoperd

250 YPC




3ZE N3 8¢

L
-

acze YSV300

¢ 2 Rl

> 291%| &2 £2'c0|= WH(N.O)
YSV321-DP-SD2-00 YSV321-DP-SC2-CZ2-00
MEX0.8
(P-Port)
, ME0S 2-945 Hole
LTINS R — 1
T 1] Sl (@) ¢
e 2]7 % %3\ : i~ & A ‘
f*Ez / 1” 25 235 ‘ 500
2. ‘ 235 740 o
o185 % —
£
TTTTIT
400£100 ==
(T
: = ©©
§ Manual Button L | Ve Buton— j
o | )
= r o 7 F G1/8 +
q 61/8 IS i
1 ]37 N \o . bB A E}
E R H S J Pk A 4 = S 1 kBN
}3 = N{ S Q@ }3 = ) § 0@
B 230 2-M30.5 -13_5-‘ 230 2-M305- | 135 | ‘
19-1’/5") 45 e / 415
(R-Port)
> Z3 Q" XIs+=E YSV300-M
A=(24.80+4.0)
b5 B=(2480-112) ‘
wll
ik OIS UL
g@@@@@@@@@@
I A .
7 it E/
i @ @ @ @ 3
g 3 20
£ £
0T O O 00T 0010 [TTITT
e e I e N e ey ==
snthesshrellGolab J\A‘J\)‘L\A‘L\A‘L\/L ‘ S
olo olo olo @E @E D
® ® ® ® © © ® ® ® ® i J
8 A A AR AR AR AR AR AR A A = P 2
roT ool alolololololo IR
ol n-G1/8 'Y — N 2-Gi/8"
135 |_P=248 4.5
OHLIED X el TVPE
= N.C N.O
gaotl 2|3 | a5 6|7 |8 9 [10]1]12 POR; RG]
B | 38.463.2 | 88,0 |112.8]137.6| 162.4] 187.2|212.0| 236.8] 261.6 | 286.4 v [A@ | A@
A | 536 | 784 |103.2]128.0]1528]177.6] 202.4| 227.2| 252.0| 276.8 3016 Z TR® PO

www.ypc.co.kr 251

g
=
H
2
In
nE
[+
3
wW
o
o






